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1. "The systems view of Industrial relations is probably the best view of Union 

Management Relations". Explain the statement. (15) 

OR 

P.TO. 

r 



5356 2 

What is Industrial Relations ? Explain the role of the three different actors 

in the industrial relations system and the impact of environmental factors 

onit. (15) 
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2. (a) What are the causes of Industrial Dispute ? (5) 

. (b) What is-industrial Dispute? Explain its main components in detail. (10) 

OR 

"Industrial dispute is only a dispute between individuals or groups and nothing 

else." Do you agree with the statement? Explain. (15) 

3. (a) What is code of discipline? Explain. (5) 

(b) What do you mean by unfair labour practice ? Explain. (1 0) 

OR. 

(a) What is Grievance procedure ? (5) 



5356 3 

(b) Explain the role of "Joint management council" as a method of prevention of 

Industrial disputes. (1 0) 

4. Describe in detail the machinery for settlement of industrial disputes in India as 

provided in Industrial Disputes Act 194 7 ? 

OR 

(a) What are different types of strikes? Should strike be justified for satisfying 

workers demands ? (1 0) 

(b) Distinguish between strike and lockout. (5) 
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5. Write short note on any three of the following : 

(a) Arbitration 

(b) Adjudication 
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(c) Conciliation 

(d) Process of negotiation 

(e) Labour court 

(f) Works committee 
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